Upsilon v2 status

KiSoo Lee

20170118




- Dataset:
- HiOniaDoubleMuO
- HiOniaDoubleMuOB
- HiOniaDoubleMuOC
- HiOniaDoubleMuOD

- Acceptance range: muon pt > 4

- 1S binning - 2S binning

lyl: {0, 1.2, 2.4} lyl: {0, 1.2, 2.4}

Centrality: {20, 30, 50, 80, 120} | |Centrality: {20, 50, 120}
pt: {0, 3, 6, 10, 30} pt: {0, 6, 30}

de: {0, n/8, n/4, 3n/8, m/2} dep: {0, /8, /4, 3n/8, m/2}
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FventPlane Flattening
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Amplitude between rpAng[6] and rpAng[7] and rpAng[8] are different
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Signal function
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Background function
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Mass Fit(0 < |y| < 1.2, 0 = d¢ < 11/6)
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- Mass fitting looks reasonable but need to check other bins
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- Error bar is large with 4 centrality bin and 4 d¢ bin
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y Centrality DT
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- 2S5 is not reasonable

- 1S shows Centrality dependence

- p7 distribution is not reasonable

Ki>oo Lee 2017.01.18 s [




- 1. Rapidity

- Need to refit mass distribution
- Do we need rebinning?

- 2. Centrality

- 1S v2 distribution is reasonable but last dN/d¢ bin fitting is not
reasonable

- 3.p1
- no pt dependence

- 4. Coarse binning is ongoing to get reasonable Upsilon 2S v2
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Mass distribution(1.2 < |y| < 2.4)
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Mass distribution(20 < |Central
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Mass distribution(30 < |Centrality| < 50)
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